Executive Engineer

Public Infrastructure Cell



Surat Municipal Corporation,

School No.16, Near Soham Circle, Althan Canal Road, Althan, Surat

> P. I. Cell/Outward/No.276 Date: 30/05/2023

Sub: Renovation & re-base preparation work for Settlement of Existing Flooring in Electric Substation which is located in front of D- Block at SMIMER Campus, Umarwada, Surat. (2nd Attempt)

Quotation letter duly super scribed and returnable on or before Dt.06/06/2023 up to 17.00 hrs. to the office of "Chief Accountant, Surat Municipal Corporation, Muglisara, Surat" in person or by Speed Post is invited to carry out the following.

Quotation Letter

Sr. No.	ITEM	Quantity	Unit	Rate Rs. Ps.	Amount Rs. Ps.
1	Dismantling tiled of stone floors laid in mortar including stacking of serviceable materials and disposal of unserviceable materials with all lead and lift.				
	Kota stone flooring and steps at Room -1	50.00	S.M	31.82	1591.00
2	Demolition including stacking of serviceable materials with all lead and lift. (i)) RCC Work	6.00	C.M	705.23	4231.28
3	Demolition of brick work and stone masonry including stacking of serviceable materials and disposal of unserviceable materials with all lead and lift. (i) On Cement Mortar.	1.50	C.M	366.93	550.40
4	Providing & filling in plinth with murrum / yellow soil or selected soil in layers of 20 cm. Th'. Incl. watering, ramming & consolidation etc. complete.	22.00	C.M	217.70	4789.40
5	Providing & Filling Rubbles including hand packing & filling interstics with Quarry Spalls complete for all leads and lifts.	15.00	C.M	804.01	12060.15
6	Providing & laying C.C 1:3:6 (1cement :3 coarse sand :6 Crushed stone agg 20m.m Nominal size) & curing comp. excl. cost of form work in :(a) foundation & Plinth	2.00	C.M	2761.91	5523.82
7	Preparation of subgrade with Compacting, Levelling and consolidation of subgrade with mini roller /plate vibrator machine including watering and filling in depressions which occur during the process as directed by engineer in charge	50.00	S.M	4.55	227.50
8	Providing & fixing IS Mark TMT Bar FE 500 / FE 500D reinforcement for R.C.C. work incl. bending, binding & placing in position etc. comp. Up to G.L./P.L.	900.00	Kg.	69.36	62424.00

Net Amount (Incl.GST)					
% Above/Below					
14	approved brand and manufacture on undecorated wall surface to give an even shade including thoroughly brushing the surface free from mortar droppings and other foreign matter and sand papered smooth.	210.00	S.M Tota	52.92	11113.20 221165.25
13	Providing and laying water proofing treatment to vertical and horizontal surfaces of depressed portions of W.C., kitchen and the like consisting of: (a) I course of applying cement slurry @ 4.4 kg/sqm mixed with water proofing compound conforming to IS: 2645 in recommended proportions. (b) II course of a layer of plaster in C.M. 1:3 with water proofing compound confirming to IS:2645 about 25 mm. th' in the floor of the depression & about 18mm th' On the side walls of the depression up to the floor level, water proofing plaster about 18 mm. th' be continued on the walls above the floor level for a height of 600 mm. with surface suitable to receive further treatment (c) Finishing top with stone aggregate 10mm to 12mm nominal size spreading @0.008 C.M./S.M., thoroughly embedded in plaster layer. as per specifications & instructions of Engineer in charge (Cement consumption 0.316 Bags / S.M.)	15.00	S.M	290.00	4350.00
12	Providing & Applying 10mm.th.cement plaster in single coat on brick/ concrete walls similar surfaces for plastering & finished even & smooth with a floating coat of cement slurry mixed with admixture of lime or neeru in required proportion etc. comp. in C.M 1:3 (1 cement: 3sand) (A) For wall and similar surfaces Ground Floor	30.00	S.M	126.52	3795.60
11	Providing & Laying polished kota stone of machine cut edge slab 25 mm. thick in riser of steps, tread, dedo & pillars center piece not less than 1.2 mt. in width & side pieces of equal size as per design, laid on 10 mm. thick C.M.1:3 (1 cement : 3 sand) joined, rubbing & polishing etc. For all Floor	3.00	S.M	717.96	2153.88
10	Providing & Laying green polished kota stone slab flooring at all floor levels, over 20 mm av. th. base of C.M. 1:6(1cement: 6 sand) laid over & joined with grey cement slurry incl. Rubbing & polishing etc. comp.(A) 25 mm. thick For all Floor	55.00	S.M	659.63	36279.65
	Pardi	3.00	C.M	7534.63	22603.89
9	Providing, mixing, placing, compacting by machine vibrator, curing, testing M25 Design mix concrete as per IS 456:2000 (latest revision) and as per tender specification in all items including cost of form work and rendering but excluding cost of reinforcement. Slabs having more than 13 cm. Thickness G.F	9.00	C.M	5496.82	49471.38

I/We do hereby give quotation to execute above mentioned work in accordance with the accompanying specifications and conditions in considerations.

TERMS AND CONDITIONS:-

- 1. Bidder has to submit Registration certificate of any department of state Government, Surat Municipal Corporation, Central Government etc. of "E-2" Class and above
- 2. The quotation complies in 1 cover.

Sealed Cover- Registration Certificate of "E-2" Class and above, Bank Solvency of 20% of Offer Amount, P.F. Certificate/ESI, GST Certificate, Work Compilation Certificate and sign all the documents and EMD of Rs. 2,300/- in the form of Crossed Demand Draft / Pay order/ Cheque of Local Nationalized Bank with duly sealed.

Cover shall mention on top name of work, name of agency and duly sealed.

- 3. Bidder shall have to attach Registration Certificate of "E-2" Class and above, Bank Solvency of 20% of Offer Amount, P. F. Certificate / ESI, GST Certificate, Work Compilation Certificate and sign all the documents and quotation offer letter otherwise the same shall not be considered.
- 4. Bidder has to deposit EMD of Rs. 2,300/- in the form of Crossed Demand Draft / Pay order/ Cheque of Local Nationalized Bank, acceptable to Surat Municipal Corporation, drawn in favour of the Municipal Commissioner, SURAT MUNICIPAL CORPORATION payable which shall be refunded after sanction of work.
- 5. Quotation once offered shall not be withdrawn by Vendor.
- 6. Quotation once accepted shall be binding to the Vendor/Contractor.
- 7. The rates quoted must include all taxes, duties/ levies, GST (Goods and Service Taxes), freight, insurance, transportation, delivery and loading /unloading at the site etc. complete.
- 8. The decision of I/C. Deputy Mu. Commissioner, Public infrastructure Cell, SMC shall be final in respect of disputes what so ever arise.
- 9. Right to accept any or to reject any or all the quotations without assigning any reason thereof is reserved by the competent authority of Surat Municipal Corporation, Surat.
- 10. The Intended Bidders has to contact Deputy Engineer/Junior Engineer/Asst. Engineer, Public infrastructure Cell, SMIMER on working days between 9.00 AM to 12.30 PM at D-Block, SMIMER Hospital & visit the site and gather information before quoting rates.
- 11. Accordingly, Bidder have to quote and submit in the above said time limit.
- 12. All necessary safety measures and precautions (including those laid down in the various relevant Indian Standards) shall be taken to ensure the safety of men, materials and machinery on the works as also of the work itself.
- 13. The Vendor/Agency's rate of the item of work shall be for the work completed in all respects.
- 14. Approval of the samples of various materials given by the Engineer-in-charge shall not absolve the Vendor from the responsibility of replacing defective material brought on site or material used in the work found defective at a later date. The Vendor shall have no claim to any payment or compensation what-so-ever on account of any such materials being rejected by the Engineer-in-charge.
- 15. Conditional quotation letter shall not be accepted.
- 16. The contract shall be constituted according to and subject to laws in India and state of Gujarat and under the jurisdiction of Courts of Gujarat at Surat City only.

17. Bidder to whom the award is made shall furnish a performance guarantee (Initial Security

Deposit) for amount equal to Two percent (2.00%) of the contract amount by a demand

draft of a Scheduled Nationalized Bank acceptable to owner on the Surat Branch Security

Deposit shall be paid in time and if it is paid after Ten (10) days from the date of work

order, then the penalty of 0.065~% per day of the amount of Security Deposit shall be

recovered from the contractor. The performance guarantee (Security Deposit) will be

returned to the contractor after the defect liability period (one year after completion of

work) and on completion of audit related procedure. Two percent (2.00%) shall be

deducted from running bills as retention money and will be released in final bill.

Additional 5.00 % amount will be retained from each R.A. bill as additional retention

money and will be released in final bill.

18. On Completion of the work, total amount of work done at sanctioned rate shall be

compared with the total amount of work done, had it been executed at the rate of the

bidder of the quotation which one is next higher than sanctioned one (i.e. second lowest

bidder). In case the latter is less than the total amount of work done at sanctioned

rate than the amount of difference between the due shall be deducted from the final bill

before making payment.

19. Time limit of the work is 02 (Two) months (Including Monsoon). If the bidder fails to

complete the work within the stipulated completion date for the work, he shall pay

liquidated damages 0.20% of contract value per day in completion or part there of as the

case may however be, Subjected to a maximum of 10% (Ten Percent) of the contract

value.

Executive Engineer
Public Infrastructure Cell
Surat Municipal Corporation

Seal & Signature of the Contractor

Name :-

GST No.:-

Address :-

Date :-

Copy to: Chief Accountantshri,

Surat Municipal Corporation,

Muglisara, Surat... for necessary action